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(x +4y)(3x) - (x +y)(x )
= 3x% 4+ 12xy — x% + 2
= 2x% + 12xy +y?2




X2 +2y%) = 2(y? - 3x?%) = 7x?
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(x +y)% = x% + 3x%y + 3xy? +?
(x+y+2)2 =x2+y*>+ 22+ 2xy + 2yz7 + 2zx
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Brl)s(x+1)=x2-x+1

© 4x-2)+(7-2x)=2x+5




3. a=2004, b=2001¢¥ o, a* - 3a®b + 3ab* - b3 O] FFL?

O 21 @ 23 ® 25 @27 ® 29

“(a-b)3=33=27




4. P+bP+c2=9,ab+bc+ca=9, a+b+c2 7F2?
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(a+b+c)* =a*+b*>+c* +2(ab + bc + ca)
=94+ 18 =27

“a+b+c=+3V3
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ax*+4x+b _ et atm
x—2

ax®> +4x+b = k(x-2)
ax> + (4-k)x+b+2k=0
xo| tigt FSsAeln=
a=0

4—k=00°1 k=4
b+2k=00°A b= -8
a-b=28
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ax* +4x+b  A(x-2) _4
x—2 x—2
na=0,b=-8°a-b=38




0]9] A= xof thote] x2-3x+2 = a+bx+cex(x—1)+dx(x—1)(x—2)
AL W, a+b+c+dY FE FSHE? (Ha, b, ¢, d=
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x=0E Y a =2
x=12 st b= -2
x=22 HUstH c=1
37k glovgg =0
“a+b+c+d=1




7.

(m? —4)x -1 = m(3x + 1) & W=Hot= 17} gl
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(m*>-3m-4)x-1-m=09 g7} gleE=z
m?2—-3m—-4=00°12 -m—-1#0
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x+y+z2=0, 2x—y—Tz =32 FA UHFAZ]= x,y,z0l st
ax® +by? +cz2 =101 AHS W), a4 b + ¢ 9] & F5HH?
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() x+y+z=0, 2x—y—-"T7z=3°A
x, y& zo tisto] LehyH
x=2z+1, y=-3z-1
(i) x=2z+1, y=-3z—1-Z ax® + by? + cz> = 1 ol U3}t
Bejota
(4a+9b+ )z +2(2a+3b)z+ (a+b-1)=0
4da+9b+c=0,2a+3b=0,a+b-1=0
ca=3,b=-2,c=6
ca+b+c="7
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A a+ b0 FE A5t et

Bt ax—8% 22+ 4x+ b2 A YA E
(a=b+16)x+4b -8
(@a-b+16)x+4b-8=3x+4----- @
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~a=-10, b=3

La+b=-7

x4 ax—8 = (2% +4x+b)(x+ p) + 3x + 49 FH AFE
H|W5le] g = -10, b =3, p=-4E 73| Hr}.




F|uAete] A4t 10]2 =

x3 4+ ax® +bx+3
=(x-1)%(x+k) +2x+1

=3+ (k-2)x2+(B3-2k)x+k+1
FH Ol AlG-E Hlw st
a=k—-2,b=3-2k, 3=k+1
k=20B2 q=0, b=-1
“a-b=0-(-1)=1
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A (1 +2x— %) = ag + a1 x + azx® + -+ + azex?0 ©] xof of
FSAY W, ap + az +as + -+ + ais + az & F2?
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Q9] gl x =15 WA

2 =ag+ar+ax+as+---+ag+ayp--O
@9 o] x = -1 s
(-2)"°=ap-a1+az—as+---—ag+ayp--©
©+©% 3

210 4 (=2)19 = 2(ag +az +as + -+ + as)
2x21% =2(ap + az +as + - + aso)

. ap+as+ag+ -+ ag + asg = 219
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f(x) =x*-2x>+5x-6
=(x-2)0(x) +R
L f(2)=2%-2-224+5-2-6
=8-8+10-6
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f(x)=(x*-3x+2)0(x) +ax+b
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15. THHA] 6+ ax + bx—19] 2 — 3x + 2.8 o] Wol A2 44
a-+ b ghe gstelet.

> E:

> Het: o
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fx)=x*+ax®*+bx-1 2 5OH
x2=3x+2=(x-1)(x-2) O] B2 f(x) Ex-1,x-2 2 Y0
ol

fQ)=14+a+b-1=0%F,a+b=0---O
F(2)=8+4a+2-1=0%, da+2b=-7---O

® ©o2 8 a=—1 b=

La+b=0




